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QUESTION 1

A developer determines that the dispatcher is NOT refreshing the cached page /content/sampleproject/ 

sample.html after it is updated. 

The dispatcher.any contains the following entries: 

Refer to the $DOCROOT directory below: 

The dispatcher needs to cache the page and refresh it after it gets updated. What action should the developer take to
meet these requirements? 

A. Remove /statfile or /statfileslevel. 

B. Delete the contents of the DOCROOT directory. 
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C. Change the value of the entry /statfileslevel to "3". 

D. Add the entry /0001 { /glob "-.html" /type "allow" } in the /invalidate section. 

Correct Answer: D 

 

QUESTION 2

A developer creates an AEM editable template that includes a Layout Container. When the developer creates a page
using this template, the Layout Container placeholder does NOT appear. 

What is causing this issue? 

A. The Layout Container does NOT have a policy. 

B. The page template has NOT been enabled. 

C. The page template has NOT been published. 

D. The Layout Container has NOT been unlocked. 

Correct Answer: D 

 

QUESTION 3

A developer is creating templates and/or components using CRXDE Lite. The developer needs to check the files into
source control. 

Which tool should the developer use to achieve this goal? 

A. vlt command 

B. Content Explorer 

C. http://localhost:4502/crx/checkout 

D. mvn command 

Correct Answer: A 

Reference: https://docs.adobe.com/content/help/en/experience-manager-64/developing/devtools/htvlttool.html 

 

QUESTION 4

A developer wants to create a Client Library that will only be included on touch enabled devices. 

What action should the developer take to achieve this? 

A. Add the line "#base=touch" to the js.txt and css.txt files in the Client Library Folder. 

B. Create a resource folder called "touch" under the Client Library Folder. 
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C. Set the channels property on the Client Library Folder to "touch". 

D. Pass the parameter user-agent=\\'touch\\' when referencing the Client Library. 

Correct Answer: B 

 

QUESTION 5

The developer is presented with a component "Component A" which inherits from a component 

"Component B". 

The dialog of Component A on path ../cq:dialog/../../items looks like: 

The dialog of Component B on path ../cq:dialog/../../items looks like: 

The requirement for the dialog is that the "Align text" field is shown after the "Title" field. 

What should the developer do without changing Component B? 

A. Move the align node from Component A to Component B and order them according the requirements. 

B. Extend Component B with the functionality of Component A. 

C. Add the property sling:orderBefore="description" to the align node. 

D. Move all nodes under the item node from Component B to Component A and order them according the
requirements. 

Correct Answer: A 
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